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3080 HhHT 5 7 5 6 3 2 4 6 4 2
3090 FHHRE AT 6 7 7 3 4 6 2 5 3 9
3100 H 4 FEHT 7 3 3 9 5 8 7 10 9 10
3110 HepILHET 5 13 6 10 3 5 11 3 9 8
9999 /\ T X &t 89 108 118 109 88 111 101 109 101 121
3510 2R LHT 1 3 6 5 2 1 2 2 3 2
3520 2[R o 6 5 6 3 4 6 5 7 9 6
3530 Z[RTHT 25 12 6 12 10 22 18 15 15 19
3540 ZF= R AKHT 8 8 5 6 1 9 3 7 7 8
3550 AEFHT 7 15 11 14 17 10 18 13 17 14
3560 &= FER AT 3 5 5 5 3 5 11 8 6 8
3570 = T AT 11 9 2 13 11 15 11 12 13 17
3580 FILIFTHT 7 6 4 5 11 7 8 10 12 4
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FIRET (KXF)a—K {THRHET (KF) 4
3590 EHT
9999 S HKXET 6
4010 E4)I|NET
4020 &S HT
4030 1ZHET
4040 SHEAHT
4050 7K EH/T
4060 EZZ HHET
4070 dt[RHET
4080 =;T;HAMT
4090 FRERHT
4100 FEEFOET
4110 JtFFnmT
9999 £ MIBXET
4510 EREE—ZEHT
4520 EREE —ZEHET
4530 AREE=ZHT
4540 EREEPYZEHET
4550 EREEFH FHMET
4560 EREE/NFEHET
4570 EREE-EZFEHET
4580 EREE/\ZFEHT
4590 EREE N ZEHT
4600 EREE+FEET
4610 AREE+—ZBHT
4620 EREE+ —ZBHT
9999 ERERIX 5T 3
5010 HRFN A HEHT
5020 HAFNBAELET
5030 REFOMR]{—HT
9999 RAFIMX &t
5510 ph R HT
5520 = H#hfT
5530 74'= M
5540 T EEHT
5550 ERHT
9999 E i X &t 2
6010 FEIET/MER
6020 [EI BT
6030 REIETA I
6040 i FHET
6050 JI| ABTER
6060 JI| AETFE
9999 FEERXET 1
6510 H = AHTEAHT
6520 HZE A KIEHET
6530 B = AFHHET
6540 BZEALLUTHT
6550 B &AM 2 RHET
6560 B Z=AiGILET
6570 HRAIEmHET
6580 HZE A EMT
6590 H &= AEHET
6600 B &= AT
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9210 RET=EH 2 11 7 6 5 3 4 9 6 8
9220 $RETHH 7 7 5 5 5 8 10 7 8 9
9230 SEETE M 8 16 15 10 10 9 12 14 18 12
9240 $RHTIEE 1 3 6 2 5 1 6 4 5 7
9250 FRETALFrith 7 9 8 8 10 9 9 11 8 8
9999 fRIXXET 90 111 94 101 100 106 112 125 96 116
9310 EIFHTR 5 8 2 3 6 4 5 2 3 3
9320 HEFHATL 3 1 1 5 8 3 7 2 3 2
9330 HISHAT/INE 2 1 4 4 2 4 2 3 1 0
9340 K [5HETRY 6 3 2 5 5 7 7 9 11 3
9999 H G X &t 16 13 9 17 21 18 21 16 18 8
9410 RETT & 7 3 5 6 9 7 5 6 6 7
9420 RETHHE 1 3 2 3 7 4 1 5 7 9
9430 RETER 3 0 3 1 1 1 1 4 2 4
9440 RHETAEF 1 0 0 0 0 0 0 0 0 0
9450 RETHE[R 0 0 0 2 0 0 0 0 0 0
9460 RET{—_HE 0 0 1 0 0 1 0 1 1 0
9470 RETZER 0 1 0 0 0 0 0 1 0 0
9480 RETHER 0 0 0 1 0 0 0 0 0 1
9999 RXEt 12 7 11 13 17 13 7 17 16 21
99999 & &t 819 834 844 939 836 901 939 1008 958 1051
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9999 /\ &KX &t 6
1010 B & HT
1020 _E SHT
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1060 F _EHT
1070 Y1 /R HET
1080 & HHET
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1110 1B IEMT
1120 f21E JTHET
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1140 FkJRET
1150 #/RET—T B
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AHET(KF)a—F {THRET(KF)EL 708 71 72m 73m 74m 758 76k 77k 78k 79%%

1250 {EERT 0 0 2 3 6 3 0 0 3 1
1260 fEF & 0 0 1 3 0 0 2 1 1 0
1270 EEHT 2 0 3 3 1 1 0 0 1 1
1280 FRAHET 4 0 2 2 3 1 2 1 1 1
1290 £ HT 2 3 3 7 1 2 1 3 6 2
1300 % FEHT 0 6 1 5 3 0 1 4 1 2
1310 RLHET 1 1 0 2 2 1 1 0 4 1
9999 XH M &t 105 119 130 140 117 108 71 73 101 109
1510 HEHD L BT 8 14 11 8 12 13 7 10 11 10
1520 #EHI T HT 8 21 18 13 16 9 10 17 12 11
1530 HEHNFTHET 4 5 3 5 8 9 3 3 5 5
1540 K1ZFHT 15 9 7 12 10 13 1 12 4 6
9999 HEMNME X &t 35 49 39 38 46 44 21 42 32 32
2010 EEERHAT 2 5 3 8 5 1 0 1 3 4
2020 % &7y 1 0 3 2 4 4 2 3 4 2
2030 LBHT 0 0 2 2 0 1 0 0 0 0
2040 ;MET—TH 4 2 4 4 7 3 3 2 2 0
2050 ;BT =T H 1 2 6 3 4 4 3 5 5 4
2060 5 MET 0 0 1 2 1 0 0 0 0 2
2070 ¥ xET—TH 5 8 5 4 3 1 2 2 3 2
2080 FRETZTH 3 3 2 7 6 5 2 4 3 2
2090 wis AT 37 23 52 22 38 33 12 27 40 23
2100 HiLET 1 2 3 9 3 3 0 1 1 3
2110 HEHIFET—T B 4 6 3 9 1 4 2 2 3 4
2120 HEMIFTET T H 5 10 4 3 6 8 2 3 4 2
9999 EERXET 63 61 88 75 78 67 28 50 68 48
2510 FRUZHT 28 32 37 34 44 29 19 24 34 23
2520 sk EEHT 21 18 25 24 14 12 11 9 9 13
2530 =/\RHET 5 4 9 6 7 3 4 2 1 3
2540 FiGHET 15 9 11 13 11 14 4 12 6 10
2550 jHHT 2 6 1 5 3 2 4 3 7 4
2560 = ST 16 19 23 21 11 22 11 14 10 15
2570 K EHT 4 1 1 6 3 1 0 0 2 1
9999 MERXET 91 89 107 109 93 83 53 64 69 69
3010 K#FTHT 21 16 15 25 17 15 11 11 8 11
3020 ;L iIHET 19 12 20 14 21 24 7 6 9 11
3030 _-EFHT 16 11 6 13 18 9 6 9 9 12
3040 HES LHT 2 0 0 1 4 3 1 3 2 4
3050 H AT 30 32 32 40 29 29 11 23 18 23
3060 HEATHET 5 11 12 12 8 6 6 5 12 14
3070 T EREHT 7 11 11 5 8 6 6 12 9 4
3080 HHHMET 5 7 5 10 7 4 3 2 2 5
3090 FHHRE AT 1 9 5 6 4 5 3 2 7 6
3100 H 4 FEHT 4 7 5 5 3 3 6 5 2 5
3110 HepILHET 11 10 9 12 7 8 3 9 7 10
9999 /\ T X &t 121 126 120 143 126 112 63 87 85 105
3510 2R LHT 4 3 3 4 5 5 0 2 5 3
3520 SR T 1 4 8 7 9 4 7 5 8 3
3530 E[RTHT 17 20 10 19 17 11 9 10 12 10
3540 ZF= R AKHT 6 13 7 9 6 7 7 1 4 7
3550 AEFHT 17 8 16 15 21 1 11 4 12 14
3560 &= FER AT 6 4 7 5 5 6 4 3 2 5
3570 = T AT 9 17 24 22 13 13 15 10 12 14
3580 F|LIFTHT 8 17 11 15 9 5 4 6 3 6
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AHET(KF)a—F {THRET(KF)EL 708 71 72m 73m 74m 758 76k 77k 78k 79%%

3590 EHT 2 0 0 0 0 2 0 0 0 0
9999 S HKXET 70 86 86 96 85 64 57 41 58 62
4010 24)I|pqET 7 6 8 12 8 7 5 6 8 1
4020 {E &S HT 0 2 4 3 1 2 1 1 2 1
4030 1ZHET 6 4 3 8 5 7 1 0 2 3
4040 SHEAHT 2 5 2 6 3 4 1 0 2 6
4050 7K EHT 9 9 4 8 8 9 2 2 8 3
4060 E=Z& HET 7 5 4 8 3 4 6 5 6 5
4070 dt[RHET 2 3 2 4 5 4 1 1 2 1
4080 =;T;HAMT 6 3 6 1 4 4 2 2 3 2
4090 FRERHT 7 4 4 3 5 7 5 2 3 6
4100 g FFOHET 2 3 3 1 5 0 0 2 1 1
4110 At FFOET 1 2 4 3 5 1 0 1 0 1
9999 £ MIBXET 49 46 44 57 52 49 24 22 37 30
4510 EREE—ZEHT 11 20 15 10 13 12 5 10 19 8
4520 EREE —ZEHET 4 5 1 2 2 3 1 4 1 3
4530 ERZE=FKHT 6 2 3 3 3 1 0 2 2 1
4540 EREEPYZEHET 4 3 1 2 2 4 2 2 2 2
4550 EREE R FMET 1 1 0 3 0 1 1 3 0 1
4560 EREE/NFEHET 0 2 0 0 1 0 2 0 2 0
4570 ERE-LFHET 2 1 3 6 7 3 0 2 0 1
4580 EREE/\ZFEHT 4 4 2 3 1 1 0 1 0 0
4590 EREE A FEHET 3 2 0 2 1 2 1 0 3 0
4600 EREE-+ZEHET 0 0 1 0 2 0 0 2 1 1
4610 EREE+—ZBHT 2 1 1 4 1 1 2 0 1 1
4620 BREE+ —ZFHET 3 4 4 4 2 6 1 4 2 0
9999 ERERIX 5T 40 45 31 39 35 34 15 30 33 18
5010 HAFN A HEMRT 2 2 3 2 6 6 1 1 3 4
5020 HAFNBAELET 5 4 5 1 0 3 3 1 1 3
5030 REFOMR]{—HT 1 1 5 2 1 2 2 0 1 5
9999 MAFIRXET 8 7 13 5 7 11 6 2 5 12
5510 & R HET 2 1 5 3 7 4 4 1 3 1
5520 &= H#hHT 13 12 14 18 12 7 8 3 8 13
5530 75 = HT 10 10 12 9 8 13 3 9 9 5
5540 T EEHT 7 5 5 4 3 5 5 6 7 3
5550 ERHT 1 1 3 4 1 0 1 1 1 1
9999 = HhAR Xt 33 29 39 38 31 29 21 20 28 23
6010 FEIET/NER 1 1 1 4 3 2 1 1 2 1
6020 [# /AT 1 2 1 1 3 1 0 0 1 1
6030 REIETA I 0 2 2 2 0 2 0 0 2 2
6040 Bz FFHET 4 5 2 6 5 3 1 3 5 2
6050 JI| HATER 3 2 3 5 4 5 1 0 4 4
6060 JI| HETTY 2 2 4 2 2 1 1 1 2 2
9999 FEERXET 11 14 13 20 17 14 4 5 16 12
6510 H = AHTEAHT 0 0 0 0 1 1 0 0 0 0
6520 HZE A KIEHET 3 4 9 6 3 4 1 4 3 5
6530 H = AHTHHAT 0 1 0 3 2 1 2 0 3 1
6540 BZEALLUTHT 4 0 3 9 4 6 7 3 8 5
6550 B &AM 2 RHET 2 4 0 2 3 0 0 0 2 1
6560 HZEAEILHET 2 2 5 3 4 3 1 3 1 5
6570 HRAIEmHET 4 5 1 5 2 10 2 4 2 3
6580 HZE A EMT 2 1 2 4 2 3 0 3 2 1
6590 H &= AEHET 1 1 2 0 0 4 1 3 2 2
6600 B &= AT 3 3 0 2 3 3 1 1 2 0
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6610 H&RA L FGHET
6620 HZE A FGHET
6630 HRA T FGHET
6640 B ZE A EitiHlT
6650 B &= AKHET
6660 H Z AR HET
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8033 JABTH AL
8041 R AHTHLIFL
8042 R AHTELIFEA
8043 IR AHT LT &
8044 IR AHTELIFIZ
8045 IR AHTELIFIF
8050 R AHETIRA
8060 IR AHT TR
8070 RAMBTER
8080 3R AHT & i4E
8090 I AHT HiEE
8100 RAHTH /IR
8110 RAHT)II5k
8120 IR AHTEEME
8130 JRAHETH E
8140 IRAHTBEFEXRT
8150 IJRABTEF XL
9999 AKX ET
9010 +THTKEH
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9170 $ERTNH 14
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9210 RET=EH 3 5 8 4 5 3 6 8 1
9220 £X T H 5 9 11 10 9 9 3 5 4 19
9230 SEETE M 15 9 13 15 12 11 4 9 9 8
9240 $RHTIEE 5 1 7 5 3 3 4 3 3 4
9250 FRETALFrith 11 8 5 7 9 4 2 2 4 5
9999 R &t 123 123 133 140 134 109 65 102 101 105
9310 EIFHTR 4 5 2 4 4 3 1 3 3 5
9320 H[ZATIL 4 5 9 3 5 7 2 1 6 0
9330 HISHAT/INE 6 3 2 2 1 1 4 5 2 4
9340 K [5HETRY 6 9 7 4 9 6 3 5 5 7
9999 H G X &t 20 22 20 13 19 17 10 14 16 16
9410 RETT & 11 3 8 12 9 6 2 3 10 1
9420 RETHHE 6 2 6 6 4 3 5 6 12 5
9430 RETER 0 3 2 8 1 3 3 3 3 5
9440 RHETAEF 0 0 0 0 1 0 0 0 0 1
9450 RETHE[R 1 0 0 0 1 0 0 1 0 0
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